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1. What is the area of the triangle ADE in the

following figure?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3BdLdwFUfC4F

D

— 10 con —m>

A. 45¢m?

B. 50cm?

C. 55¢m?

D. 40cm?

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3BdLdwFUfC4F

2. What will be the change in the volume of a

cube when its side becomes 10 times the

original side?

A. Volume becomes 1000 times.

B. Volume becomes 10 times.

C. Volume becomes 100 times.

times

D. Vol b
olume becomes -0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_k13pqJ64ddXd

3. Area of a rhombus is equal to

product of its diagonals.

o Watch Video Solution

4.If the area of a face of a cube is 10em?, then

the total surface area of the cube is

o Watch Video Solution



https://dl.doubtnut.com/l/_4Z24npZNgvw6
https://dl.doubtnut.com/l/_O12kfejU4Akb

5. State whether the statements are true (T) or
false (F).

1L = 1000 em?®

o Watch Video Solution

6. State whether the statements are true (T) or
false (F).
Amount of region occupied by a solid is called

its surface area.

° Watch Video Solution



https://dl.doubtnut.com/l/_X0xQ19UVpH4M
https://dl.doubtnut.com/l/_ImGuNdccLCws

7.160 m> of water is to be used to irrigate a
rectangular field whose area is 800 m?. What
will be the height of the water level in the

field?

o Watch Video Solution

8. Find the area of a rhombus whose one side

measures 5 cm and one diagonal as 8 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_ImGuNdccLCws
https://dl.doubtnut.com/l/_jaYrJmQcD1bV
https://dl.doubtnut.com/l/_2zaoMLfHdwl7

9. The parallel sides of a trapezium are 40 cm
and 20 cm. If its non-parallel sides are both
equal, each being 26 cm, find the area of the

trapezium.

o Watch Video Solution

10. Find the area of polygon ABCDEF, if AD =
18cm, AQ =14 cm, AP =12 cm, AN =8 cm, AM =4
cm, and FM, EP, QC and BN are perpendiculars

to diagonal AD.

| & I


https://dl.doubtnut.com/l/_wBnjIU1yG0Fz
https://dl.doubtnut.com/l/_Pe4cWhbHTazf

| ¥ Watch Video Solution |

1. A cube of side 5 cm is painted on all its faces.

If it is sliced into 1 cubic centimetre cubes, how

many 1 cubic centimetre cubes will have

exactly one of their faces painted?

A. 27

B.42

C.54


https://dl.doubtnut.com/l/_Pe4cWhbHTazf
https://dl.doubtnut.com/l/_ERHmfBd80wT8

D. 142

Answer:

° Watch Video Solution

2. A cube of side 4 cm is cut into 1 cm cubes.

What is the ratio of the surface areas of the

original cubes and cut-out cubes?

A.1:2

B.1:3


https://dl.doubtnut.com/l/_ERHmfBd80wT8
https://dl.doubtnut.com/l/_iZCOJSF6t71n

C.1:4

D.1:6

Answer:

o Watch Video Solution

3. A circle of maximum possible size is cut from
a square sheet of board. Subsequently, a
square of maximum possible size is cut from
the resultant circle. What will be the area of

the final square?


https://dl.doubtnut.com/l/_iZCOJSF6t71n
https://dl.doubtnut.com/l/_kEJsMu5TfVN4

A. 1 of original square.
B. 2 of original square.

C. 1 of original square.

D. 3 of original square.

Answer: B

o Watch Video Solution

4. What is the area of the largest triangle that
can be fitted into a rectangle of length | units

and width w units?


https://dl.doubtnut.com/l/_kEJsMu5TfVN4
https://dl.doubtnut.com/l/_fo4MuV4Csaz7

A. lw/2

B. lw/3

C.lw/6

D. lw/4

Answer: A

o Watch Video Solution

1
5. If the height of a cylinder becomes 1 of the

original height and the radius is doubled, then

which of the following will be true?


https://dl.doubtnut.com/l/_fo4MuV4Csaz7
https://dl.doubtnut.com/l/_Yo3joRdB1KTf

A. Volume of the cylinder will be doubled.
B.Volume of the «cylinder will remain
unchanged.
C. Volume of the cylinder will be halved.
. : 1
D. Volume of the cylinder will be — of the

4

original volume.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Yo3joRdB1KTf

1
6. If the height of a cylinder becomes 1 of the

original height and the radius is doubled, then

which of the following will be true?

A. Curved surface area of the cylinder will
be doubled.

B. Curved surface area of the cylinder will
remain unchanged.

C. Curved surface area of the cylinder will

be halved.


https://dl.doubtnut.com/l/_oVh8FqwXTBrX

D. Curved surface area will be 1 of the

original curved surface.

Answer: C

o Watch Video Solution

1
7.1f the height of a cylinder becomes 1 of the

original height and the radius is doubled, then

which of the following will be true?


https://dl.doubtnut.com/l/_oVh8FqwXTBrX
https://dl.doubtnut.com/l/_I8vkM7BTNzdh

A. Total surface area of the cylinder will be

doubled.

B. Total surface area of the cylinder will

remain unchanged

C.Total surface of the cylinder will be

halved.

D. None of the above.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_I8vkM7BTNzdh
https://dl.doubtnut.com/l/_3p0JRF9T41hf

8. The surface area of the three coterminus
faces of a cuboid are 6, 15 and 10 em?
respectively. The volume of the cuboid is

A. 30cm?

B. 40cm®

C.20cm?

D. 35¢m?

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3p0JRF9T41hf

9.If a regular hexagon is inscribed in a circle of

radius r, then find the perimeter of the

hexagon.

A. 3r

B. 6r

C.9r

D. 12r

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_M73QMFnWBGDs

10. The dimensions of a godown are 40 m, 25

m and 10 m. If it is filled with cuboidal boxes

each of dimensions 2m X 1.25m X 1m, then

the number of boxes will be

A. 1800

B. 2000

C. 4000

D. 8000

Answer: C

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_m6Az6bCkvYEM

11. The volume of a cube is 64 cm?. Its surface

area is

A. 16cm?

B. 64cm/?

C. 96cm?

D. 128cm?

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_m6Az6bCkvYEM
https://dl.doubtnut.com/l/_WRT9iHUDM8n2

12. If the radius of a cylinder is tripled but its

curved surface area is unchanged, then its

height will be

A. tripled

B. constant

C.one sixth

D. one third

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WRT9iHUDM8n2
https://dl.doubtnut.com/l/_g6B5PT1QzuCv

13. How many small cubes with edge of 20 cm

each can be just accommodated in a cubical

box of 2 m edge?

A.10

B. 100

C. 1000

D. 10000

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_g6B5PT1QzuCv
https://dl.doubtnut.com/l/_nC4YWCQFETHq

14. The volume of a cylinder whose radius r is

equal to its height is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nC4YWCQFETHq
https://dl.doubtnut.com/l/_CibBzcfW5pZr

15. The volume of a cube whose edge is 3x is

A 2713

B. 9z°

C. 623

D. 323

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CibBzcfW5pZr
https://dl.doubtnut.com/l/_LhVBJuzVelrj

16. The figure ABCD is a quadrilateral in which

AB =CD and BC = AD. Its area is

A. 72em?

B. 36cm>

C. 24cm?

D. 18cm?


https://dl.doubtnut.com/l/_LR9nK3LwiD1g

Answer: B

o Watch Video Solution

17. What is the area of the rhombus ABCD

below if AC =6 cm, and BE = 4cm?

A. 36cm?


https://dl.doubtnut.com/l/_LR9nK3LwiD1g
https://dl.doubtnut.com/l/_OoSGTRQv0J4K

B. 16cm?

C. 24cm?

D. 13cm?

Answer:

o Watch Video Solution

2 and

18. The area of a parallelogram is 60 cm
one of its altitude is 5 cm. The length of its

corresponding side is


https://dl.doubtnut.com/l/_OoSGTRQv0J4K
https://dl.doubtnut.com/l/_m33y005ggXDu

A.12 cm

B.6cm

C.4 cm

D.2cm

Answer: A

o Watch Video Solution

19. If the perimeter of a trapezium be 52cm, its

non parallel sides are equal to 10cm each and


https://dl.doubtnut.com/l/_m33y005ggXDu
https://dl.doubtnut.com/l/_0y6zYeO0th9B

its altitude is 8m, find the area of the

trapezium.

A. 124cm?

B. 118cm?

C. 128¢cm?

D. 112cm?

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0y6zYeO0th9B

20. Area of a quadrilateral ABCD is 20 ¢m? and
perpendiculars on BD from opposite vertices
are 1cm and 1.5 cm. The length of BD is

A 4 cm

B.15 cm

C.16 cm

D. 18 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vhhKzaGE3bd2

21. A metal sheet 27 cm long, 8 cm broad and 1

cm thick is melted into a cube. The side of the

cube is

A.6cm

B.8 cm

C.12 cm

D. 24 cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EmV98ArUKdNa

22. Three cubes of metal whose edges are 6

cm, 8 cm and 10 cm respectively are melted to

form a single cube. The edge of the new cube

Is

A.12 cm

B.24 cm

C.18 cm

D. 20 cm

Answer: A

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_6sdPngLuaF0r

23. A covered wooden box has the inner
measures as 115 ¢cm, 75 cm and 35 cm and
thickness of wood as 2.5 cm. The volume of the
wood is

A. 85,000 cm?®

B. 80,000 cm®

C. 82, 125¢m?

D. 84,000 cm®


https://dl.doubtnut.com/l/_6sdPngLuaF0r
https://dl.doubtnut.com/l/_4ar55EWbkMqm

Answer:

o Watch Video Solution

24. The ratio of radii of two cylinders is 1: 2 and

heights are in the ratio 2:3. The ratio of their

volumes is

A1:6

B.1:9

C.1:3

D.2:9


https://dl.doubtnut.com/l/_4ar55EWbkMqm
https://dl.doubtnut.com/l/_fzzRso12Wm9J

Answer:

o Watch Video Solution

25. Two cubes have volumes in the ratio 1:64.

The ratio of the area of a face of first cube to

that of the other is

Al:4

B.1:8

C.1:16

D.1:32


https://dl.doubtnut.com/l/_fzzRso12Wm9J
https://dl.doubtnut.com/l/_bxHH63PnwK2i

Answer: C

o Watch Video Solution

26. The surface areas of the six faces of a

rectangular solid are 16, 16, 32, 32, 72 and 72

square centimetres. The volume of the solid, in

cubic centimetres, is

A. 192

B.384

C. 480


https://dl.doubtnut.com/l/_bxHH63PnwK2i
https://dl.doubtnut.com/l/_QqJflFKUzwxz

D. 2592

Answer: A

° Watch Video Solution

27.Ramesh has three containers.

(a) Cylindrical container A having radius r and
height h,

(b) Cylindrical container B having radius 2r and
height 1/2 h, and

(c) Cuboidal container C having dimensions


https://dl.doubtnut.com/l/_QqJflFKUzwxz
https://dl.doubtnut.com/l/_hzqyhm8DqD3T

rX71rXh

The arrangement of the containers in the

increasing order of their volumes is

A.AB,C

B.B,C,A

C.C,AB

D. cannot be arranged

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hzqyhm8DqD3T
https://dl.doubtnut.com/l/_LXkWzxT4F0Kn

28. If R is the radius of the base of the hat,

then the total outer surface area of the hat is
e

A.mR(2h + R)

B.2rR(h + R)

C.2nrh + TR?

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LXkWzxT4F0Kn
https://dl.doubtnut.com/l/_HhyGPK65KVZY

29. A cube of side 4 cm is painted on all its
sides. If it is sliced in 1 cubic cm cubes, then
number of such cubes that will have exactly

two of their faces painted is

o Watch Video Solution

30. A cube of side 5 cm is cut into 1 cm cubes.
The percentage increase in volume after such

cutting is

o Watch Video Solution



https://dl.doubtnut.com/l/_HhyGPK65KVZY
https://dl.doubtnut.com/l/_wwntwxEcxILl

31. The surface area of a cuboid formed by

joining two cubes of side a cm face to face is

o Watch Video Solution

32.If the diagonals of a rhombus get doubled,
then the area of the rhombus becomes

its original area.

o Watch Video Solution



https://dl.doubtnut.com/l/_W2jNAI0XmOXZ
https://dl.doubtnut.com/l/_IY8LXudPEqdK
https://dl.doubtnut.com/l/_d9mTC2NZLZRi

33. If a cube fits exactly in a cylinder with
height h, then the volume of the cube is

and surface area of the cube is

° Watch Video Solution

34.The volume of a cylinder becomes

the original volume if its radius becomes half

of the original radius.

° Watch Video Solution



https://dl.doubtnut.com/l/_d9mTC2NZLZRi
https://dl.doubtnut.com/l/_EO7UpXjAwHw0

35. The curved surface area of a cylinder is

reduced by per cent if the height is

half of the original height.

o Watch Video Solution

36. The volume of a cylinder which exactly fits

in a cube of side a is

° Watch Video Solution



https://dl.doubtnut.com/l/_cg71lgLpFxx5
https://dl.doubtnut.com/l/_OuXVG8qhEMkt

37. The surface area of a cylinder which exactly

fits in a cube of side b is

° Watch Video Solution

38. If the diagonal d of a quadrilateral is
doubled and the heights h; and h, falling on

d are halved, then the area of quadrilateral is

o Watch Video Solution



https://dl.doubtnut.com/l/_bv3QsRn9atvd
https://dl.doubtnut.com/l/_2TDkj1KerQ1w
https://dl.doubtnut.com/l/_cZe4OSNe0XVc

39. The perimeter of a rectangle becomes

times its original perimeter, if its

length and breadth are doubled.

o Watch Video Solution

40. A trapezium with 3 equal sides and one
side double the equal side can be divided into

equilateral triangles of area.

o Watch Video Solution



https://dl.doubtnut.com/l/_cZe4OSNe0XVc
https://dl.doubtnut.com/l/_xI0mqyZuMqNG
https://dl.doubtnut.com/l/_U6dDZvlLein3

41. All six faces of a cuboid are in

shape and of area.

° Watch Video Solution

42. Opposite faces of a cuboid are in

area.

o Watch Video Solution

43. Curved surface area of a cylinder of radius

h and height ris


https://dl.doubtnut.com/l/_U6dDZvlLein3
https://dl.doubtnut.com/l/_wSaWcgf5SGUB
https://dl.doubtnut.com/l/_e0Bfu4YjrVRK

° Watch Video Solution

44, Total surface area of a cylinder of radius h

and height ris

o Watch Video Solution

45. Volume of a cylinder with radius h and

height r is

° Watch Video Solution



https://dl.doubtnut.com/l/_e0Bfu4YjrVRK
https://dl.doubtnut.com/l/_0gRLa4YZgG4p
https://dl.doubtnut.com/l/_gvrljuDnJZfN
https://dl.doubtnut.com/l/_YMTQgc6R1N4N

46. Area of a rhombus = 3 product of

o Watch Video Solution

47. Two cylinders A and B are formed by
folding a rectangular sheet of dimensions 20
cm X 10 cm along its length and also along
its breadth respectively. Then volume of A is

of volume of B.

o Watch Video Solution



https://dl.doubtnut.com/l/_YMTQgc6R1N4N
https://dl.doubtnut.com/l/_qezDDRt19H4A

48. Two cylinders A and B are formed by
folding a rectangular sheet of dimensions 20
cm x 10 cm along its length and also along its
breadth respectively. Curved surface area of A

is curved surface area of B.

o Watch Video Solution

49, of a solid is the measurement of

the space occupied by it.

° Watch Video Solution



https://dl.doubtnut.com/l/_sXaZQ527J1jA
https://dl.doubtnut.com/l/_5fbFJ1Jw1btE

50. surface area of room = area of 4

o Watch Video Solution

51. Two cylinders of equal volume have heights

in the ratio 1:9. The ratio of their radii is

o Watch Video Solution



https://dl.doubtnut.com/l/_5fbFJ1Jw1btE
https://dl.doubtnut.com/l/_Tzg5zPBfQZ3g
https://dl.doubtnut.com/l/_xwMnYKg770m1
https://dl.doubtnut.com/l/_Wu4DApOiFtmO

52. Two cylinders of same volume have their

radii in the ratio 1:6, then ratio of their heights

o Watch Video Solution

53. State whether the statements are true (T)
or false (F).

The areas of any two faces of a cube are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wu4DApOiFtmO
https://dl.doubtnut.com/l/_TGlG5ry9yBQm

54. State whether the statements are true (T)

or false (F).

The areas of any two faces of a cuboid are

equal.

o Watch Video Solution

55. State whether the statements are true (T)

or false (F).

The surface area of a cuboid formed by joining


https://dl.doubtnut.com/l/_fOtgTDb4j7hz
https://dl.doubtnut.com/l/_h1pccYdHTXq4

face to face 3 cubes of side x is 3 times the

surface area of a cube of side x.

° Watch Video Solution

56. State whether the statements are true (T)

or false (F).
Two cuboids with equal volumes will always

have equal surface areas.

o Watch Video Solution



https://dl.doubtnut.com/l/_h1pccYdHTXq4
https://dl.doubtnut.com/l/_mEX8nyzqw7zA

57. State whether the statements are true (T)

or false (F).

The area of a trapezium become 4 times if its

height gets doubled.

o Watch Video Solution

58. State whether the statements are true (T)

or false (F).
A cube of side 3 cm painted on all its faces,

when sliced into 1 cubic centimetre cubes, will


https://dl.doubtnut.com/l/_GuBIRsPZDOnF
https://dl.doubtnut.com/l/_qtAlRaEgfSYP

have exactly 1 cube with none of its faces

painted.

° Watch Video Solution

59. State whether the statements are true (T)

or false (F).
Two cylinders with equal volume will always

have equal surface areas.

o Watch Video Solution



https://dl.doubtnut.com/l/_qtAlRaEgfSYP
https://dl.doubtnut.com/l/_EtBxjLDks7CJ

60. State whether the statements are true (T)
or false (F).

The surface area of a cube formed by cutting a
cuboid of dimensions 2 -1 -1 in 2 equal parts

Is 2 sq. units.

o Watch Video Solution

61. State whether the statements are true (T)

or false (F).


https://dl.doubtnut.com/l/_hfHuB9VyWuJt
https://dl.doubtnut.com/l/_A5KqumJRmbtb

Ratio of area of a circle to the area of a square

whose side equals radius of circleis 1: .

o Watch Video Solution

62. The area of a rectangular field is 48 m? and
one of its sides is 6m. How long will a lady take
to cross the field diagonally at the rate of 20

m/minute?

o Watch Video Solution



https://dl.doubtnut.com/l/_A5KqumJRmbtb
https://dl.doubtnut.com/l/_Nt0kWh2XNbpQ

63. The circumference of the front wheel of a
cart is 3 m long and that of the back wheel is 4
m long. What is the distance travelled by the
cart, when the front wheel makes five more

revolutions than the rear wheel?

o Watch Video Solution

64. Four horses are tethered with equal ropes

at 4 corners of a square field of side 70 metres


https://dl.doubtnut.com/l/_7WC0LMBtwQGP
https://dl.doubtnut.com/l/_iJsb0McuQxgn

so that they just can reach one another. Find

the area left ungrazed by the horses.

° Watch Video Solution

65. The walls and ceiling of a room are to be
plastered. The length, breadth and height of
the room are 45m, 3m and 350cm,
respectively. Find the cost of plastering at the

rate of Rs. 8 per square metre.

° Watch Video Solution



https://dl.doubtnut.com/l/_iJsb0McuQxgn
https://dl.doubtnut.com/l/_DTXnrVg619Zs
https://dl.doubtnut.com/l/_YHVuAm1nnSW4

66. Most of the sailboats have two sails, the jib
and the mainsail. Assume that the sails are
triangles. Find the total area of each sail of the

sail boats to the nearest tenth.

mn () ({11}]

o Watch Video Solution

67. The area of a trapezium with equal non-

parallel sides is 168 m?. If the lengths of the


https://dl.doubtnut.com/l/_YHVuAm1nnSW4
https://dl.doubtnut.com/l/_oiM1VRk7XSRu

parallel sides are 36 m and 20 m, find the

length of the non-parallel sides.

° Watch Video Solution

68. Mukesh walks around a circular track of
radius 14 m with a speed of 4 km/hr. If he takes
20 rounds of the track, for how long does he

walk?

o Watch Video Solution



https://dl.doubtnut.com/l/_oiM1VRk7XSRu
https://dl.doubtnut.com/l/_x9ClNBIHhfLS

69. The areas of two circles are in the ratio

49:64. Find the ratio of their circumferences.

o Watch Video Solution

70.There is a circular pond and foot-path runs
along its boundary. A man walks around it,
exactly once, keeping close to the edge. If his
step is 66 cm long and he takes exactly 400
steps to go around the pond, what is the

diameter of the pond?

| & I


https://dl.doubtnut.com/l/_WXisDUJbD7Dy
https://dl.doubtnut.com/l/_gttfy5pRvhpb

| ¥ Watch Video Solution |

71. A running track has 2 semicircular ends of
radius 63 m and two straight lengths. The
perimeter of the track is 1000 m. Find each

straight length.

° Watch Video Solution



https://dl.doubtnut.com/l/_gttfy5pRvhpb
https://dl.doubtnut.com/l/_RuLsl22GtqVM

72.Find the perimeter of the given figure.

° Watch Video Solution

73. A bicycle wheel makes 500 revolutions in

moving 1 km. Find the diameter of the wheel.

o Watch Video Solution



https://dl.doubtnut.com/l/_D9mZnWmstj8Y
https://dl.doubtnut.com/l/_Vr7llKFHilDO

74. A boy is cycling such that the wheels of the
cycle are making 140 revolutions per minute. If
the diameter of the wheel is 60 cm, calculate
the speed per hour with which the boy is

cycling.

o Watch Video Solution

75.Find the length of the largest pole that can

be placed in a room of dimensions


https://dl.doubtnut.com/l/_Vr7llKFHilDO
https://dl.doubtnut.com/l/_JnSPMVGdGOJJ
https://dl.doubtnut.com/l/_seiDOfLIWYfC

12m x 4m x 3m.

&2

° Watch Video Solution

76. Find the area of the following fields. All

dimensions are in metres.


https://dl.doubtnut.com/l/_seiDOfLIWYfC
https://dl.doubtnut.com/l/_hPlF3F3Rr4sQ

o Watch Video Solution



https://dl.doubtnut.com/l/_hPlF3F3Rr4sQ
https://dl.doubtnut.com/l/_SVueRrcI9GMg

77. Find the area of the following fields.

dimensions are in metres.

D

100

100

S0

G

All

o Watch Video Solution



https://dl.doubtnut.com/l/_SVueRrcI9GMg

78. Find the area of the shaded portion in the
following figures.

S P R

36 m O

o Watch Video Solution

79. Find the area of the shaded portion in the

following figures.


https://dl.doubtnut.com/l/_nXF2siqJov17
https://dl.doubtnut.com/l/_2ObjtUrxjUN4

B

10 m
L

40 m

o Watch Video Solution

80. Find the area of the shaded portion in the

following figures.



https://dl.doubtnut.com/l/_2ObjtUrxjUN4
https://dl.doubtnut.com/l/_vB5qYSdQY2Ib

\ o Watch Video Solution

81. Find the area of the shaded portion in the
following figures.

A 120 em B

o Watch Video Solution



https://dl.doubtnut.com/l/_vB5qYSdQY2Ib
https://dl.doubtnut.com/l/_IiJSppLmH4s1

82. Find the area of the shaded portion in the

following figures.

™\

‘ bocm
12 cm

4 cm 8 cm

3cm \

16 cm

o Watch Video Solution

83. Find the area of the shaded portion in the

following figures.


https://dl.doubtnut.com/l/_tgvmdlF0zCBz
https://dl.doubtnut.com/l/_yk294tNInktC

/{CIT

/cm

7em

o Watch Video Solution

84.Find the area of the shaded portion in the

following figures.


https://dl.doubtnut.com/l/_yk294tNInktC
https://dl.doubtnut.com/l/_wvJGWgmXgIRG

— 12cm —

l 6 cm
—d €«

12 om

o Watch Video Solution

85. Find the area of the following figures.



https://dl.doubtnut.com/l/_wvJGWgmXgIRG
https://dl.doubtnut.com/l/_x67YSybGgu3Z

° Watch Video Solution

86. Find the volume of each of the given figure

if volume = base area x height.

3y
2n
2y 2PNS2p

(b) ()

o Watch Video Solution



https://dl.doubtnut.com/l/_x67YSybGgu3Z
https://dl.doubtnut.com/l/_lqT6URgQrcsR

87. A cube of side 5 cm is cut into as many 1 cm
cubes as possible. What is the ratio of the
surface area of the original cube to that of the

sum of the surface areas of the smaller cubes?

o Watch Video Solution

88. A square sheet of paper is converted into a
cylinder by rolling it along its sideWhat is the
ratio of the base radius to the side of the

square?

| & |


https://dl.doubtnut.com/l/_lMmT9hJd0JQe
https://dl.doubtnut.com/l/_8XwUwpurG7v6

| ¥ Watch Video Solution |

89. How many cubic metres of earth must be
dug to construct a well 7 m deep and of

diameter 2.8 m?

o Watch Video Solution

90. The radius and height of a cylinder are in
the ratio 3:2 and its volume is 19,404 em?. Find

its radius and height.

o Watch Video Solution



https://dl.doubtnut.com/l/_8XwUwpurG7v6
https://dl.doubtnut.com/l/_o539sNY97LYk
https://dl.doubtnut.com/l/_fxcOHCgugY39

91. The thickness of a hollow metallic cylinder
Is 2 cm. It is 70 cm long with outer radius of 14
cm. Find the volume of the metal used in
making the cylinder, assuming that it is open
at both the ends. Also find its weight if the

metal weighs 8 g per cm?.

o Watch Video Solution



https://dl.doubtnut.com/l/_fxcOHCgugY39
https://dl.doubtnut.com/l/_TbJyDKnfnL8v

92. Radius of a cylinder is r and the height is h.
Find the change in the volume if the

height is doubled.

o Watch Video Solution

93. Radius of a cylinder is r and the height is h.
Find the change in the volume if the

height is doubled and the radius is halved.

o Watch Video Solution



https://dl.doubtnut.com/l/_RDszajZZyp3m
https://dl.doubtnut.com/l/_Gqb97Uac4sCH
https://dl.doubtnut.com/l/_85Ro8HMMwSzY

94. Radius of a cylinder is r and the height is h.
Find the change in the volume if the

height remains same and the radius is halved.

o Watch Video Solution

95. If the length of each edge of a cube is

tripled, what will be the change in its volume?

° Watch Video Solution



https://dl.doubtnut.com/l/_85Ro8HMMwSzY
https://dl.doubtnut.com/l/_yJmYZPiZwG9h

96. A carpenter makes a box which has a
volume of 13,400 cm?. The base has an area of

670 cm?. What is the height of the box?

o Watch Video Solution

97. A cuboidal tin box opened at the top has
dimensions 20cm x 16cm X 14em. What is
the total area of metal sheet required to make

10 such boxes?

° Watch Video Solution



https://dl.doubtnut.com/l/_oC3DOz8FSrC6
https://dl.doubtnut.com/l/_MEWlIEYIvAwZ

98. Find the capacity of water tank, in litres,

whose dimensions are 4.2 m,3 m and 1.8 m?

o Watch Video Solution

99. How many cubes each of side 0.5 m are

required to build a cube of volume 8 m?> ?

° Watch Video Solution



https://dl.doubtnut.com/l/_MEWlIEYIvAwZ
https://dl.doubtnut.com/l/_LnTaR0vyz8ts
https://dl.doubtnut.com/l/_ArLJ9nS9w0O9

100. A wooden box (including the lid) has
external dimensions 40 cm by 34 cm by 30 cm.
If the wood is 1 cm thick, how many cm3 of

wood is used in it?

o Watch Video Solution

101. A river 2 m deep and 45 m wide is flowing
at the rate of 3 km per hour. Find the amount
of water in cubic metres that runs into the sea

per minute.

| & I


https://dl.doubtnut.com/l/_zfjOrrZanKvt
https://dl.doubtnut.com/l/_MLfg557Kpk2f

| ¥ Watch Video Solution |

102. Find the area to be painted in the
following block with a cylindrical hole. Given
that length is 15 cm, width 12 cm, height 20 cm

and radius of the hole 2.8 cm.



https://dl.doubtnut.com/l/_MLfg557Kpk2f
https://dl.doubtnut.com/l/_3QnM1vl8IYl8

103. A truck carrying 7.8 m3 concrete arrives at
a job site. A platform of width 5 m and height
2 m is being contructed at the site. Find the
length of the platform, constructed from the

amount of concrete on the truck?

o Watch Video Solution

104. A hollow garden roller of 42 cm diameter

and length 152 cm is made of cast iron 2 cm


https://dl.doubtnut.com/l/_3QnM1vl8IYl8
https://dl.doubtnut.com/l/_awwe606X05aV
https://dl.doubtnut.com/l/_8CIvggDd5YfG

thick. Find the volume of iron used in the

roller.

° Watch Video Solution

105. Three cubes each of side 10 cm are joined
end to end. Find the surface area of the

resultant figure.

° Watch Video Solution



https://dl.doubtnut.com/l/_8CIvggDd5YfG
https://dl.doubtnut.com/l/_1Rp0Oc2leWlx

106. Below are the drawings of cross sections
of two different pipes used to fill swimming
pools. Figure A is a combination of 2 pipes
each having a radius of 8 cm. Figure B is a pipe
having a radius of 15 cm. If the force of the
flow of water coming out of the pipes is the
same in both the cases, which will fill the

swimming pool faster?

° Watch Video Solution



https://dl.doubtnut.com/l/_pMqoQPi8kP3p

107. A swimming pool is 200 m by 50 m and
has an average depth of 2 m. By the end of a
summer day, the water level drops by 2 cm.
How many cubic metres of water is lost on the

day?

° Watch Video Solution

108. A housing society consisting of 5,500
people needs 100 L of water per person per

day. The cylindrical supply tankis 7 m high and


https://dl.doubtnut.com/l/_pMqoQPi8kP3p
https://dl.doubtnut.com/l/_lY7DAxwplQFT
https://dl.doubtnut.com/l/_pqI02YGv3xKx

has a diameter 10 m. For how many days will

the water in the tank last for the society?

° Watch Video Solution

109. Metallic discs of radius 0.75 cm and
thickness 0.2 cm are melted to obtain 508.68
cm3 of metal. Find the number of discs melted

(use 7 =3.14).

o Watch Video Solution



https://dl.doubtnut.com/l/_pqI02YGv3xKx
https://dl.doubtnut.com/l/_vi45mzc94RSX

10. The ratio of the radius and height of a
cylinder is 2:3. If its volume is 12,936 em?, find

the total surface area of the cylinder.

o Watch Video Solution

111. External dimensions of a closed wooden
box are in the ratio 5:4:3. If the cost of
painting its outer surface at the rate of Rs 5
per dm? is Rs 11,750, find the dimensions of

the box.

| & I


https://dl.doubtnut.com/l/_4fyifFZWwlL9
https://dl.doubtnut.com/l/_kr56pe3aKtyV

| ¥ Watch Video Solution |

112. The capacity of a closed cylindrical vessel
of height 1m is 15.4 litres. How many square
metres of metal sheet would be needed to

make it?

° Watch Video Solution

113. What will happen to the volume of the

cube, if its edge is


https://dl.doubtnut.com/l/_kr56pe3aKtyV
https://dl.doubtnut.com/l/_nqf6GZkxCqIe
https://dl.doubtnut.com/l/_eXtjars8bAeD

(a) tripled

(b) reduced to one-fourth?

° Watch Video Solution

114. A rectangular sheet of dimensions 25 cm
X 7 cm is rotated about its longer side. Find
the volume and the whole surface area of the

solid thus generated.

o Watch Video Solution



https://dl.doubtnut.com/l/_eXtjars8bAeD
https://dl.doubtnut.com/l/_7CRrFzs8fug1

115. From a pipe of inner radius 0.75 cm, water
flows at the rate of 7 m per second. Find the
volume in litres of water delivered by the pipe

in 1 hour.

o Watch Video Solution

116. Four times the area of the curved surface
of a cylinder is equal to 6 times the sum of the
areas of its bases. If its height is 12 cm, find its

curved surface area.

| & I


https://dl.doubtnut.com/l/_JjHowwi8brw4
https://dl.doubtnut.com/l/_iUJ6j2Ocs4qK

| ¥ Watch Video Solution |

117. A cylindrical tank has a radius of 154 cm. It
is filled with water to a height of 3 m. If water
to a height of 4.5 m is poured into it, what will

be the increase in the volume of water in kl?

o Watch Video Solution

118. The length, breadth and height of a
cuboidal reservoir is 7m, 6m and 15m

respectively. 8400 litre of water is pumped out


https://dl.doubtnut.com/l/_iUJ6j2Ocs4qK
https://dl.doubtnut.com/l/_cA01ogGjIxqA
https://dl.doubtnut.com/l/_leHTA9VwAJy3

from the reservoir. Find the fall in the water-

level in the reservoir.

° Watch Video Solution

119. How many bricks of  size
22cm x 10cm x Tem are required to construct
a wall 33m long, 3.5m high and 40cm thick, if
cement and sand used in the construction

1
occupy 1—Oth part of the wall?

° Watch Video Solution



https://dl.doubtnut.com/l/_leHTA9VwAJy3
https://dl.doubtnut.com/l/_MWRW1Wl5f9wg
https://dl.doubtnut.com/l/_X72ghmm9xQmB

120. A rectangular examination hall having
seats for 500 candidates has to be built so as
to allow 4 cubic metres of air and 0.5 square
metres of floor area per candidate. If the
length of hall be 25 m, find the height and

breadth of the hall.

o Watch Video Solution

121. The ratio between the curved surface area

and the total surface area of a right circular


https://dl.doubtnut.com/l/_X72ghmm9xQmB
https://dl.doubtnut.com/l/_hCs2HJsiMX4F

cylinder is 1:2. Find the ratio between the

height and radius of the cylinder.

° Watch Video Solution

122. A birthday cake has two tiers as shown in

the figure below. Find the volume of the cake.

L O Tl ——
W H::fr ¥l =< 2 f'/ A .-‘__-:"
Iy I~V
"<\. .-/
= -
1 i J
v <
- - —
¥ H‘-\.\_ [ /’/ s

° Watch Video Solution



https://dl.doubtnut.com/l/_hCs2HJsiMX4F
https://dl.doubtnut.com/l/_THSvjTag6eJ3

123. Work out the surface area of following

shapes
3em

- —»

lem I] _[::]
“lem
4cm
L
I

o Watch Video Solution



https://dl.doubtnut.com/l/_THSvjTag6eJ3
https://dl.doubtnut.com/l/_IKqF5uPiep09

124. Work out the surface area of following

shapes
| 2¢em
st

Z24cm
| 2em

r) .
12cm | 2cm

o Watch Video Solution



https://dl.doubtnut.com/l/_BEapajuN5JwJ

125. Work out the surface area of following

shapes

o Watch Video Solution

126. Work out the surface area of following

shapes


https://dl.doubtnut.com/l/_7PmD3U9hwPsn
https://dl.doubtnut.com/l/_jGoD4KzZ5QeD

° Watch Video Solution

127. Water flows from a tank with a rectangular
base measuring 80 cm by 70 cm into another
tank with a square base of side 60 cm. If the
water in the first tank is 45 cm deep, how deep

will it be in the second tank?

l o Watch Video Solution


https://dl.doubtnut.com/l/_jGoD4KzZ5QeD
https://dl.doubtnut.com/l/_NnSbiDXkx9hc

128. A rectangular sheet of paper is rolled in
two different ways to form two different
cylinders. Find the volume of cylinders in each

case if the sheet measures 44 cm x 33 cm.

o Watch Video Solution

Applications Games And Puzzles


https://dl.doubtnut.com/l/_NnSbiDXkx9hc
https://dl.doubtnut.com/l/_74U2zjean7gb

1. Rashid has decided to build a swimming
pool as shown in the figure on an empty plot
25 metres long and 15 metres wide. He is
discussing with his son Majid about his plan
to build the pool, put tiles on the bottom of
the pool and other requirements of the pool.
Can you help Majid to answer the following
questions which his father has asked in the

discussion?


https://dl.doubtnut.com/l/_aYBDoYSUwusm

26 m

I m
: Hm  deep
B m '
eeg
<

LE 4 »
10 m 10 m

What is the surface area of the pool?

o Watch Video Solution



https://dl.doubtnut.com/l/_aYBDoYSUwusm

2. Rashid has decided to build a swimming
pool as shown in the figure on an empty plot
25 metres long and 15 metres wide. He is
discussing with his son Majid about his plan
to build the pool, put tiles on the bottom of
the pool and other requirements of the pool.
Can you help Majid to answer the following
questions which his father has asked in the

discussion?


https://dl.doubtnut.com/l/_8GFo58GcU6xb

26 m

I m
: Hm  deep
B m '
eeg
<

LE 4 »
10 m 10 m

What is the surface area of the pool?

o Watch Video Solution



https://dl.doubtnut.com/l/_8GFo58GcU6xb

3. Rashid has decided to build a swimming
pool as shown in the figure on an empty plot
25 metres long and 15 metres wide. He is
discussing with his son Majid about his plan
to build the pool, put tiles on the bottom of
the pool and other requirements of the pool.
Can you help Majid to answer the following
questions which his father has asked in the

discussion?


https://dl.doubtnut.com/l/_J4JGkiv6tJG0

26 m

I m
: Hm  deep
B m .
eeg
<

»< »
10 m 10 m

What is the surface area of the pool?

o Watch Video Solution



https://dl.doubtnut.com/l/_J4JGkiv6tJG0

4. Rashid has decided to build a swimming
pool as shown in the figure on an empty plot
25 metres long and 15 metres wide. He is
discussing with his son Majid about his plan
to build the pool, put tiles on the bottom of
the pool and other requirements of the pool.
Can you help Majid to answer the following
questions which his father has asked in the

discussion?


https://dl.doubtnut.com/l/_UBfn3clnv8tq

26 m

I m
: Hm  deep
B m .
eeg
<

»< »
10 m 10 m

What is the surface area of the pool?

o Watch Video Solution



https://dl.doubtnut.com/l/_UBfn3clnv8tq

5. Rashid has decided to build a swimming
pool as shown in the figure on an empty plot
25 metres long and 15 metres wide. He is
discussing with his son Majid about his plan
to build the pool, put tiles on the bottom of
the pool and other requirements of the pool.
Can you help Majid to answer the following
questions which his father has asked in the

discussion?


https://dl.doubtnut.com/l/_rUfMoUP5u8JO

26 m

I m
: Hm  deep
B m .
eeg
<

»< »
10 m 10 m

What is the surface area of the pool?

o Watch Video Solution



https://dl.doubtnut.com/l/_rUfMoUP5u8JO

6. Rashid has decided to build a swimming
pool as shown in the figure on an empty plot
25 metres long and 15 metres wide. He is
discussing with his son Majid about his plan
to build the pool, put tiles on the bottom of
the pool and other requirements of the pool.
Can you help Majid to answer the following
questions which his father has asked in the

discussion?


https://dl.doubtnut.com/l/_VhZRYRTSlp2G

26 m

I m
: Hm  deep
B m .
eeg
<

»< »
10 m 10 m

What is the surface area of the pool?

o Watch Video Solution



https://dl.doubtnut.com/l/_VhZRYRTSlp2G

7. Rashid has decided to build a swimming
pool as shown in the figure on an empty plot
25 metres long and 15 metres wide. He is
discussing with his son Majid about his plan
to build the pool, put tiles on the bottom of
the pool and other requirements of the pool.
Can you help Majid to answer the following
questions which his father has asked in the

discussion?


https://dl.doubtnut.com/l/_dK5638dfMruH

26 m

I m
: Hm  deep
B m .
eeg
<

»< »
10 m 10 m

What is the surface area of the pool?

o Watch Video Solution



https://dl.doubtnut.com/l/_dK5638dfMruH

8. Rashid has decided to build a swimming
pool as shown in the figure on an empty plot
25 metres long and 15 metres wide. He is
discussing with his son Majid about his plan
to build the pool, put tiles on the bottom of
the pool and other requirements of the pool.
Can you help Majid to answer the following
questions which his father has asked in the

discussion?


https://dl.doubtnut.com/l/_rp2mD3hOQmyJ

26 m

I m
: Hm  deep
B m .
eeg
<

»< »
10 m 10 m

What is the surface area of the pool?

o Watch Video Solution



https://dl.doubtnut.com/l/_rp2mD3hOQmyJ

9. The following table shows the dimensions of
cuboids such that, their volumes remain the
same. Extend the table with as many more
dimensions such that all the cuboids thus
formed have the same volume. Complete the
table and write your conclusion on surface

area and volume of each cuboid.

Dimenslions of cubold Surface Area Volume
(In units) (sq. unlit) (cube unit)
15, 10, 8 1200
6B, 10, 20 1200

o Watch Video Solution



https://dl.doubtnut.com/l/_JsOxDe3m8zIx

10. The figure shown is a geoboard in which a

rectangle has been outlined wusing a

rubberband.

ODOODODTCDO DO |

M

Draw a similar figure whose area is 50% larger

than this figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_Jj0xZxyViumi

11. The figure shown is a geoboard in which a

rectangle has been outlined wusing a

rubberband.

Draw a similar figure whose area is 25% larger

than this figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_Jj0xZxyViumi
https://dl.doubtnut.com/l/_RrAzSUCNmOOD

12. The figure shown is a geoboard in which a

rectangle has been outlined wusing a

rubberband.

DD OO0 OOy@

OO OO OO
OO0 O O O O
O OO OO
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OODDOODO O

Suppose that the figure shown is 75% of
another figure. What would the other figure

look like?


https://dl.doubtnut.com/l/_RrAzSUCNmOOD
https://dl.doubtnut.com/l/_kgIdplFigITq

° Watch Video Solution

r h r h 0 m u s z
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13. i w h m| a n k p e d

Find the names of the solids from the given
word maze whose areas or volumes are given

below by colouring the boxes using the given


https://dl.doubtnut.com/l/_kgIdplFigITq
https://dl.doubtnut.com/l/_ugJgnqjgw1AE

colour code.

Area/Volume Colour Code
I
. 2 d, xd, red
2. Ibh blue
3. mr'h yellow
4. nr? green
5 ] bl :
5. 3 1 orange
|
6. 2 (a+ b)yxh pink

° Watch Video Solution

Think And Discuss



https://dl.doubtnut.com/l/_ugJgnqjgw1AE

1. A cylindrical pillar is 50 cm in diameter and
3.5 m in height. Find the cost of painting the
curved surface of the piller at the rate of Rs10

per sq. m.

o Watch Video Solution

2. The length , breadth and height of box are
2m, 1.5 m and 80 cm respectively . What would
be the cost of canvas to cover it up fully , if

one square metre of canvas costs Rs. 25.00 ?

| & I


https://dl.doubtnut.com/l/_AnyUVctNlPBm
https://dl.doubtnut.com/l/_yDjXluhM3XnX

| ¥ Watch Video Solution



https://dl.doubtnut.com/l/_yDjXluhM3XnX

